NS7-42 Rounding Review

Y -

1. . Underline the digit you wish to round to. Then s:ainhether you wou!c{ round up or down.

a) thousands b) ten thousands c) hundreds

PR AP R j U R R
2{71/312 5] 1 8.7/5[2{3] 917]5]13
, roundup round up round down round up round down
d) tens e) thousands * f) thousands
S —
2:7:5 i 31213 1,916:;7:812 3(0j]015 217
g i H .
round up round down round up round down round up round down

2. Complete the two steps from Question 1. Then follow the two steps below.

Step 1: Round the digit underlined up or down. Step 2: The digits to the right of the rounded digit
+ To round up, add 1 to the digit. become zeros.
+ To round down, keep the digit the same. The digits to the left remain the same.
alsl7034i5]|n ' 4(5l7/3l4alsjm
P13 4;517{310}0
a) thousands : b) ten thousands c) ten thousands
1i0/0{1]2/3n 986 4151w 2(713/2}1|mw
‘ _ % rd i rd i rd
d) hundred thousands N e) ten thousands f) hundred thousands
2/1]5]9]3 27t |3/8|5/7|2/0/6 n|6|6[7/8/915/2 n
o I rd rd rd
g) hundreds ‘;' h) tens i) thousands
_ i i ‘
2;310 .1 215w 312,97 7 mi112 371851911 w
: rd 2 ‘ rd C
3 Sometimes in rounding, you have to regroup.
Example: 317191512 3/719i5]2 3l7lels]2
Round 37 952 j : '
to the nearest 810 : 3j8j0j0j0
hundred. Step 1: 900 rounds to 1 000. Step 2: Regroup the 10 - Step 3: Complete the rounding.
hundreds as 1 (thousand) and
add it to the 7 (thousand).

Round each number to the digit given (regrouping if necessary).

a) 385721 tenthousands b) 987 832 thousands ) 39:823 tenthousands d) 427 296 tens
e) 20175 hundreds  f) 8720738 funded  g) 97 231 tenthousands h) 3952793 gt
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NE7-43 Rounding Decimals

. 1. Whatis the length, to the nearest centimetre? .

a) cm, to the nearest centimetre

Lo d A

l 2. What is the length, to the nearest centimetre?

a) 5.4 cm is approximately cm.

||I|III|1I|II|I|||!|II|||I||3I|III|[IIIII||I||IIIEI|II|I|I||6I|IIIIIIIg|||IIIIIIBII

3. a) Is 3.76 closer to 3.7 or 3.87 Closer to -

So, 3.76 is approximately equal to

b) cm, to the nearest centimetre

1' 2‘ 3| 4l 5' 6| 7| 8I-|

b) 7.7 cm is approximately cm.

III|||I|1||I|I||IlmlIIIIIIQIIIII||III|I|II||II:_IIII|||II'IDI|||II|IIQ||IIIIIILII

b) Is 4.254 closer to 4.25.or 4.26? Closer to
So, 4.254 is approximately equal to

3.76 4,254
I I I | I
3.6 ’ 3.7 3.8 425 426 4.27
| Rounding Off ~ N
: ( N
The digit to the right is less than 5. Round DOWN to the number you
» underlined.
i iqi 7.6 '
Underline the digit you 9 2@ ) 7.62
want to.round off to. »~ AN )

23.586 7.623

}

-
The digit to the right is 5 or more.

, 23.58

S ©

4 ™
Add 1 to the number you underlined.
5| Round UP to that number.

Yy, 23.59

\_ J

Note When you add 1 you many need to regroup as in Questlon 3 on the preVIous page

4. Follow the steps above to round the decimals.

Hint: Do not forget to write the decimal point in your answer.

a) tenths b) hundredths c) tenths
X2137I5 33142‘ 42;41955
d) ones N ) f) ones
9.8, 7 2 09 T,
; ( SR S,
i

) ﬁen?ﬁ%f o

h) hundredths |

i) thousandths

AU R Tk
3.3 1] -~427§351
Foe .,é,. e e sl

i | ;1 ¢ ;

;352%7;o§6%

i : 1
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